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1. In each circuit below, the rectangles represent (he same type of gate. Based on the input and oulput
information given, identify whether the gate involved is an AND, OR, or XOR. Please briefly describe the

answer. (]0%)‘
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What would be the result of performing a one-bit right circular shift on the following bytes represented in
hexadecimal notation (give your answers in hexadecimal notation)? (10%)

(a) 3F (b) 77

(c) 0D (d) FF

3. Using the commands SELECT, PROJECT, and JOIN, write :d sequence of instruction to answer the

following questions about parts and their manufacturers in terms of the following database: (20%)

PART relation
Bolt 2X 1
.Bolt 2Z 1.5
Nut V5 05

MANUFACTURER relation
,»f‘ﬁf S e ;

mpanyNanely HaFName | (os!
Company X Bolt2Z | 0.03
Company X NutVs | 0.01
Company Y Bolt 2X | 0.02
Company Y Bolt2Z | 0.04
Company Z Nut Vs | 0.01

(a) Obtain a list of the parts made by Company X along with each part’s cost.

e
i

(b) Which companies make a part with weight 1?

4,  Multiple-choice questions (10%)

(Dina data compression method, the received data are an exact copy of the original message.
(a) lossless (b) lossy
(€) lessloss (d) glossy.
(2) The layer of the OST model transmils a bit stream over a physical medium.
(a) physical (b) data-link
(c) network (d) transport
(3) A galeway operales at of the OSI model.
(a) the first layer (b) the first two layers
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(c) the three layers (d) all layers
(4) Abridge operatesat ___ of the OSI model.
(a) the first layer (b) the first two layers
(c) the three layers (d) all layers
(5) The transport tayer protocol of TCP/IP is called __
(a) TCP (b) UDP
(c)IP (d)aandb.

6.

Use the following table of processes and service time. Draw a Gantt chart that shows the completion times

for each process using round robin CPU scheduling with a time slice of 60. (10%)

Consider the following pagé map table. Assume that the frame size is 1024 bytes. Please answer the
following questions (20%)

(a) What is the physical address associated with the logical address <2, 85>?

(b) What is the physical address associated with the logical address <3, 1025>?

Give the adjacency matrix representation of the following graph. Give the depth-first traversal of the
given graph starting {rom vertex A. (20%)




